Answers – Monday 11th January 2021
Early Bird Maths


Early Bird (Mrs Smith’s Group)



On This Day








	Key Question: 
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	Fluency:   [image: ]
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	Reasoning:   Do you agree?   No
                       Explain:  To simplify a fraction you must find the highest common factor of
                                        the numerator and denominator to divide them by, not just halving.

	Problem Solving:   
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	More Practice:[image: ][image: ]




	Talk Time:
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	Additional Practice:
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	Spelling: [image: ]
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a) Write the year Hamilton was born in Roman
numerals. MDCCLV
b) How longago was this? 266 years
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a) Sort the froctions into the groups.
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‘Shade the shapes to show the equivalent fractions.
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Which of the diagrams has exactly % shaded?
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Write the letters of all the diagrams that have exactly % shaded.
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Find three ways to make the fractions equivalent.
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Complete the equivalent fractions.
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Here are three fraction cards.

Al the froctions are equivalent.
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A+B=13

A=7, B=6, C=28
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Here are some equivalent fractions.

Find the values of A, B and C.
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Contractions

. is not, shall not, will not

. couldn’t, haven’t, you're

. we're, he'll, wouldn't, they're, wasn't, shouldn’t
. a) we'll b) can’t ¢) mightn't
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1) 54,424 -2,545=51,879

2) 534x56=29,904

3) 4/5x2/8=8/400r1/5

4) 5/6+6=5/36

5) % 0f345,545=172,772.5

6) Write 1,343,378 in words
One million, three hundred and forty-three
thousand, three hundred and seventy-eight

7) 25% of 458 =114.5

8) 323-215=17/15

9) 535+12-447/12

10)4-17=-13

11)6.43x3.4=21.862

12)Half way between 56 and 210 = 133
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1) 14,424-2,545= 11,879

2) 534x56=29,904

3) 4/5x2/8=8/40=1/8

4) % of 345,544 = 172,772

5) Write 43,378 in words
Forty three thousand, three hundred and
seventy-eight

6) 22+24=28

7) 2/6+3/18=9/18

8) 144+12=12

9) 40x8.1 =324

10) 3.1+5.29=8.39




